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— -1 Y2 2 2me?
0) = 3/2 (’I’L —ar/2 ZL2€+1 Y. (Q _ —
009 = o2 |G LB et 2L (an) V(@) (0= o = 208

L1210 2, 000000000000 o000 », 0000000
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6 LUU0OO0bOOOobOuoobouobbooobd

6.1 0000000 ODOODODOO (text 8 7.4, p244)

e 000000 [, Ji] =icijk jr
e0OIDODO J? 0O j, 0000000 |j,m) DOOOODOOOOOO

I ljym) = §G+ V) Gm) s Jalj,m) = mljm)
(000000000000 m=—j,—j+1,...,5)
e0D0OODO 5>0000010000000000: j+ = Jj, +ij,

oo Gl = %ja s (Ges 51 =20 = 3a (e lim)) = m£1) (julj,m))
B =G g 4 JeGe+ V) =Gej + 72 Ge = )
e|jym000 DOOOO 2 00000|45) (00 |4,—4)0000 |j,m)0000000

oy = NG () 1y = NG (3) T 1)

(j £m)!

eGEmy 000

J’0j,,j-00000000000 NJ) =

00000000000000 (L, L] =iheiyp Ly 00000 L=hj 00000 [i, j;] = e ji O
00000000000 J.,j,J. 00000000000

[J?, j:]=0(Gi==z4,2) 0000000O0J%?0 j,000000000000000000000000
0000000 5, 0000000 |f4m 000000000000000O

000000 j+=j.+ij, 00000007, 0000000000000 7, 0000100000000

DDDDDDDDDDDDDDDDDDDDjJrD j,DDDDszDDDDDDDDDDDDDD

g iz = (e £iy) e Fijy) = Jo + 3y Filde, 3] =3 =52 Filifz) = I* = j.(J: F 1)
0000 J°0 j.,j- 000000000

P =j g 450+ =04 d- 4720 — 1) (%)

000J? 0000 ADOODOO 5,000000 j00000000(+)00000(1)J320000 j5(G+1)
000000(2) j. 000000 —j000000(3)j00000000000000000000000O0
J+lij)=00000(00O0O ODDDDDDDDDDDDDDLDDDD j+10000450 7, 000000000
000000)000000(+) 0000000000 323, J)*Jz(]z+1)|] By =3iG+115.45)=Alj,j) 0000
00000000 J?20000 j(j+1) 00000 (1)000000007, 000000 me000007_ |4, me) =0
D000000000G) 0000000000 J2|j,mo) = j.(J. — 1) |j, mo) = mo(mo — 1) |5, mo) = A4, 4)
000me(mo—1)=4(j+1)0000 mo=—4,j+10000me=4+10 50 j. 00000000000
000000007, 0000000 me=—j000 (2)0]j,—j)0 7, 000000000 57,0000 10
000000002j0000000000000000 (54+)% |5, —4) o< 5,/)0 (5+)* " 5, —5) o j+ 14,4) = 00
000000000 |f4)000000000002/000000000@G,)"|j,—j)0000 0000000
00, 000000000000000000000000000002j0 (000)00000 (3)0

00000 (x) 000005407 000000000000000000000074 |j,m)=Clj,m+1)
00000000000000 (,m|j-jelim =jG+1)—m@m+1)=|C]> 00O

Jrlim) =i +1) —m(m+1)[j,m+1) =/ —m)(j+m+1)[jm+1)
DDDDDDDDDDDDDDU,*])D ]+DDDDDDDDDDDDDDDDDDDDDD

G =) = V@) IxV@2i—1)2xx/G—m+1) (G+m)|jm)
@N'G+mt
TGy P

0ooo0olj,—j) 000000 |j,m 0000000(;4)0 ;- 0000000000000000000

_gemy = VGG + 1) —m(m = 1) [j,m—1) = /G +m)(G —m+1)|j,m—1)
DDDDDDDDDD|j,j)DDDDDD |j7m)DDDDDDIZI

gbooobood f,:f'xf)[llilj[II:JDDDDDDDDDDDDDDDDDDDDDDD sO0Oj;0
oooobooooo
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6.2 0UO0OO0OOOOOO0OOOO0ODO0

goboobooobooooboobooooooooo [¢,m) 000000000000O0O0O0O Yem(0,9) 0000
¢=L/A 00000, 00000 (0,9 UOODDOOOOOOODOOOD

5 7_.& 5 +ig g 0
b, = —1 , bi—=e <:|:80+zcot98¢)

(1)00 Y, 000000 Y =0Ou(0)e 000004 Y =000

da _ _d ¢ _ _d L \g e ¢
(d@ Zcot@)@-cos@(cosado sinﬁ)e_cosg(d(sinﬁ) Sine)@—OeYu—qe sin” 6

1 20+ 1)!
Y 000000 |eo| = 5 QDY g

(2) Y O - 00000 Y, 00000000000 -0 €*f(9) 000000000000000000

Iy (€™ f(0)) = e'HED? <:t% — pcot 9) £(0) = F'#ED? (sin g) £H ] (sin®) T £(0)

d(cos )
(04)" (™ £(0))
= (F)" ' "EM? [(sin0)"F D (sin 0)" ] [(sin )" D (sin )" 4] - [(sin0)'F# D (sin0)**] £(6)
— (L) (€ f(0)) = (F)" ' “F (sin0)"F DN (sin0) T f(6) (6.1)

(D=08/0(cosf) 000D000)000000000Y,, 0000000
Yem = N (02) 7™ Yoo = 0 NY) €™ (sin )™ D™ (sin 6)* (6.2)

m=—¢000000 Y, _¢=(—)ce ™ (sinh) 00000 Ve, 0 (000)000000O0

Yem = NS (1) 4™ Yoo = (=)™ eo NSP €™ (sin 0)™ D+ ™ (sin 0) (6.3)
m=000000Y0(@=0,¢)>00000000000c¢ =(—)|e] 0000000
14
(3)m>000000 (6.3)0000000z=cos§ 00000000000000 Pu(z) = zzlz'je(z -0

m
d—Pg(z) goboooooooboobooooog

0000000000 Pﬁ(z):(l—ZQ)m/dem

m im m am dz
Yin(0.6) = ()" el N €™ (1= 2) /de—m(@(f—l)‘)

/2£+1 / S (6.4)

0000 (62) 000 Yoo = (=) (Yeor)* 000D
0ooooooon
+ 000000 Yen(,¢) 00O

« 000000000000000 4,4, 000000000000 =L/h)
Y =00+ 1) Yo, 0Yim=mYomm ((=0,1,2,... ., m=—,—(+1,... 1)

Yy, O Yy (Yo )0/ (/) 0000000000000000ODO
0
00000000000 xexp(img) 000000¢ 00000 /,=—i— 000000

2]
/ 2£+1 [ (€ —m)!
Yim (6, ¢) = (=) HimD/ T m)! 1 P (cosb)e tmé

d¢

Py(z) = Pl(z) = m/2 Pe(z)

dm

g '

0000000000000000000000000000000000 4400000000000000
oooooooooooooom
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